
APPROVED FOR PUBLICATION

STATE DESIGN ENGINEER

Washington State Department of Transportation

H

2
’ 
- 
6
"

ASSEMBLY DETAIL

TIMBER POST

TYPES 3 & 4

TYPES 1 & 2

TYPES 1 & 2

TYPE 1 ALTERNATIVE

1
"

INITIAL INSTALLATION

2
’ 
- 
4
"

2
"

2
" 2
"

1

1

1
"

2
’ 
- 
4
"

TYPE 1

1
"

TYPE 2

1
’ 
- 
0
"

2
’ 
- 
6
"

1
"

1
’ 
- 
0
"

TYPE 3

1
"

1
’ 
- 
0
"

FACE OF GUARDRAIL

FACE OF GUARDRAIL

2
’ 
- 
6
"

1
"

2
’ 
- 
4
"

2
’ 
- 
4
"

1
"

GUARDRAIL

FACE OF

GUARDRAIL

FACE OF

GUARDRAIL

FACE OF

TYPE 4

2
’ 
- 
4
" 

M
IN
.

V
A

R
IE

S

1
"

HMA OVERLAY

RAIL ELEMENT RAISED

FACE OF GUARDRAIL

1.

NOTES

2.

3.

4.

5.

6.

7.

GUARDRAIL

FACE OF

H

STEEL POST

POST EXCEPT AS NOTED

HARDWARE SAME AS FOR TIMBER

ALL MOUNTING AND SPLICE

FOR STEEL POST

TIMBER BLOCK

D
R

A
W

N
 B

Y
: 
 F

E
R

N
 L
ID

D
E

L
L

FACE OF GUARDRAIL

 MIN. LENGTH

C6 × 8.2 × 12’ - 5 3/4"

MIN. LENGTH

C6 × 8.2  × 12’ - 5 3/4"

STANDARD PLAN C-1

TYPES 1 - 4 (W-BEAM)

BEAM GUARDRAIL

SHEET 1 OF 2 SHEETS

TYPES 1 & 2 ONLYFOR 

1 3/4" (IN) POST BOLT WASHER ~ 

HEX NUT W/ CUT WASHER

BOLT W/ 7/32" (IN) OVAL GRIP &

5/8" (IN) × 10" (IN) BUTTON HEAD

IN 3/4" (IN) HOLE

BOLT WASHER

W/ HEX NUT & POST

5/8" (IN) CARRIAGE BOLT 

IN 3/4" (IN) HOLE

BOLT WASHER

W/ HEX NUT & POST

5/8" (IN) CARRIAGE BOLT 

& RECESSED HEX NUT

BOLT W/ 7/32" (IN) OVAL GRIP

5/8" (IN) × 18" (IN) BUTTON HEAD

ENDS W/ HEX NUTS

5/8" (IN) ROD THREADED BOTH

OR

& RECESSED HEX NUT

BOLT W/ 7/32" (IN) OVAL GRIP

5/8" (IN) × 25" (IN) BUTTON HEAD

W6 × 15

W6 × 9 OR

W6 × 8.5 OR

SEE NOTE 6

SEE NOTE 4

RAISING

FUTURE GUARDRAIL 

PRE-DRILLED HOLES FOR 

web.

Holes shall be located on approaching traffic side of 

necessary to achieve required guardrail height.

Existing posts shall not be raised. Replace posts as 

remain visible.

the Contractor’s responsibility to ensure the stamped numbers 

after the post is galvanized.  After post installation, it shall be 

1/4" (in).  For steel post applications, the letter shall be legible 

applications, the letter shall be stamped to a minimum depth of 

letter "H" is shown in the ASSEMBLY DETAIL.  For wood post 

1 1/2" (in) min. high and 3/4" (in) wide at the location where the 

in the Contract, the post length shall be stamped with numbers, 

When "Beam Guardrail Type - ___ Ft. Long Post" is specified 

.Standard Plan C-1bFor post and block details, see 

vanized nail to prevent block rotation.

Timber blocks shall be toe-nailed to the post with a 16d gal-

6’ - 3"  on centers.

Beam Guardrail post spacing for Types 1 through 4 shall be 

installation shall be removed.

ing installations, except those on posts 2 through 8 of a BCT 

Unnecessary Rail washers need not be removed from exist-

required on new installation, except as called for in Note 1.  

Rail Washers, also called "Snow Load Rail Washers", are not 

Snow Load Rail Washers shall not be installed on terminals.

placed on the face side of Beam Guardrail Types 1 and 2.  

(in) Post Bolt Washer) and a Snow Load Rail Washer shall be 

shall be used on the backside of the post (in lieu of the 1 3/4" 

When required by the Contract, a Snow Load Post Washer 

8.

TYPES 3 & 4

SEE NOTE 6

TYPE 3 AND 4TYPE 1 AND 2

ASSEMBLY DETAIL POST EXCEPT AS NOTED

HARDWARE SAME AS FOR TIMBER

ALL MOUNTING AND SPLICE

STEEL POST

SEE NOTE 8

W6 × 15

W6 × 9 OR

W6 × 8.5 OR

TIMBER POST

 (EIGHT REQUIRED PER SPLICE)

GRIP & RECESSED HEX NUT ~

SPLICE BOLT W/ 7/32" (IN) OVAL

5/8" (IN) × 1 1/4" (IN) BUTTON HEAD

FOR STEEL POST

TIMBER BLOCK

HEX NUT W/ CUT WASHER (TYP.)

BOLT W/ 7/32" (IN) OVAL GRIP &

5/8" (IN) × 10" (IN) BUTTON HEAD

(TYP.)

 (EIGHT REQUIRED PER SPLICE) ~

OVAL GRIP & RECESSED HEX NUT ~

 HEAD SPLICE BOLT W/ 7/32" (IN) 

5/8" (IN) × 1 1/4" (IN) BUTTON

ST
AT

EOFWASHINGTON

REGISTERED

P
R
O
FESSIONAL ENGI

N
E
E
R

NO
SR

ET
TEP .K YREFFEJ

36937



SHEET 2 OF 2 SHEETS

APPROVED FOR PUBLICATION

Washington State Department of Transportation

STATE DESIGN ENGINEER

1
"

HMA OVERLAY

RAISED GUARDRAIL BLOCK

4
" 

M
A

X
.

‘

1" 1 5/8" 1 7/8"

2
"

2
"

2
"

1
"

1
"

1
 1
/4
" 

1
 1
/4
" 

7 7/8"

CHANNEL RAIL SPLICE

3 3/8"

C6 × 8.2

1/4"

4
 1
/2
"

CONNECTION

POST

6’ - 3"

4 1/4"4 1/4"4 1/4" 4 1/4" 2"

13’ - 6 1/2"

6’ - 3"

2"

TYPICAL RAIL ELEMENT

4"

2"

4
"

2
"

3"

1 1/2"

13’ - 6 1/2"

6’ - 3"

4 1/4"

6’ - 2 1/4"

1
 3
/4
"

7
/8
"

4 1/4"4 1/4"4 1/4"2 3/4" 2"

POST WASHER

SNOW LOAD

RAIL WASHER

SNOW LOAD

SEE NOTES 1 & 2SEE NOTE 1

EXPANSION SECTION

D
R

A
W

N
 B

Y
: 
 F

E
R

N
 L
ID

D
E

L
L

TYPES 1 - 4 (W-BEAM)

BEAM GUARDRAIL

STANDARD PLAN C-1

BOLT, HEX NUT & WASHER

PLATE, FOR 5/8" (IN) CARRIAGE

CHANNEL RAIL & SPLICE

3/4" (IN) × 2" (IN) SPLICE SLOT IN

5/8" (IN) CARRIAGE BOLTS

RAIL AND SPLICE PLATE, FOR

3/4" (IN) SPLICE HOLES IN CHANNEL

2
’ 
- 
6
"

2
’ 
- 
4
" 
 T

O

11/16" (IN) HOLE

1/4" (IN) PLATE

POST

EXISTING GUARDRAIL 

(TYP.)

29/32" (IN) × 2" (IN)

SPLICE BOLT SLOTS ~ 

3/4" (IN) × 3 3/4" (IN)

POST BOLT SLOTS ~

3/4" (IN) × 2 1/2" (IN)

POST BOLT SLOT ~ 

(TYP.) 

29/32" (IN) × 1 1/8" (IN)

SPLICE BOLT SLOTS ~

(TYP.)

 29/32" (IN) × 1 1/8" (IN)

SPLICE BOLT SLOTS ~

(TYP.) 

3/4" (IN) × 2 1/2" (IN)

POST BOLT SLOT ~ 

PLATE

8 GAGE MIN.

× 7 7/8" (IN)

3/8" (IN) × 4 1/2" (IN)

SPLICE PLATE ~

 HMA OVERLAYS
BEAM GUARDRAIL RAISING FOR

SLOT

11/16" (IN) × 31/32" (IN) 

GRIP AND RECESSED NUT

HEAD BOLT W/ 7/32" (IN) OVAL

PLATE, FOR 5/8" (IN) BUTTON 

 IN CHANNEL RAIL AND SPLICE 

  3/4" (IN) × 2" (IN) POST BOLT SLOT

GUARDRAIL

FACE OF 

HEAD BOLT

HOLE FOR 5/8" (IN) BUTTON 

FIELD DRILL NEW 3/4" (IN) 

ST
AT

EOFWASHINGTON

REGISTERED

P
R
O
FESSIONAL ENGI

N
E
E
R

NO
SR

ET
TEP .K YREFFEJ

36937


		2016-07-12T11:52:42-0700
	Carpenter, Jeff


		2016-07-12T11:53:03-0700
	Carpenter, Jeff


		2016-06-30T07:19:51-0700
	Petterson, Jeff (HQ Design)


		2016-06-30T07:20:15-0700
	Petterson, Jeff (HQ Design)




